Interpreting Linear Graphs

Mir. G is keeping truck of how many Mowers bloom in his garden. His data is below, with number of lowers (F)
and the number of weeks (w). He wanis 1o find an equation so he can predict how many flowers be will have!
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Livimg the graph, we need to fnd!
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Write the equation:
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ch Predict the number of flowers afier 12 weeks
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Write the equation: sfqgez =B frﬂf:'l‘l‘
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Check vour equation: { % -1 )
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Write the equation: Sope = g-_ = =
Y= %x &
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B: Check the equation (%, | )
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We call these 2 lines Pﬂf “uf '@ |'I

. which means they have the same 5@,‘5}5

but different
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Write the eqialion:
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Flat lines are called hﬁ"-’i FoH .'-'5"4' lines. They have the same

All ‘[ﬁl.r"f Eli-’l‘reﬂlll lines have a slope of | ) .

_%_ value everyvwhere!
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Write the equation:
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Straight up and down lines are called H'J"E""}hmfl

lines. They have the same ¥ value evervwhere!

All UE,FH .ﬂiﬁ.f lines do not have a _S"ﬁ.l:ﬁ
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Homewark: 4.2 #9 (abede)

4.3 #1 (all), Ziright) 3 (all), 4-5 (nght)



